Transfers Report

This report contains the transfers results.

Contest Name	Ward 7 - Ballochmyle
Valid Votes	4,695
Positions to be Filled	4
Quota	940

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Claire LEITCH	Scottish National Party (SNP)	971
Neil MCGHEE	Scottish Labour Party	873
Neil MURRAY	Scottish Labour Party	483
Jim ROBERTS	Scottish National Party (SNP)	788
Sheraz SHAFIQ	Scottish Libertarian Party	15
David SHAW		621
Alyson SIMMONS	Scottish Conservative and Unionist	944
	Total	4,695

Candidate Claire LEITCH Elected with 971 votes, being in excess of the quota of 940 Candidate Alyson SIMMONS Elected with 944 votes, being in excess of the quota of 940

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Claire LEITCH

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Claire LEITCH	0	0.00000	0.00000
Transfer to Neil MCGHEE	63	0.03192	2.01096
Transfer to Neil MURRAY	23	0.03192	0.73416
Transfer to Jim ROBERTS	791	0.03192	25.24872
Transfer to Sheraz SHAFIQ	4	0.03192	0.12768
Transfer to David SHAW	28	0.03192	0.89376
Transfer to Alyson SIMMONS	0	0.00000	0.00000
Value of non-transferable ballot papers			1.98472
	Total		31.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Alyson SIMMONS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Claire LEITCH	0	0.00000	0.00000
Transfer to Neil MCGHEE	96	0.00423	0.40608
Transfer to Neil MURRAY	126	0.00423	0.53298
Transfer to Jim ROBERTS	31	0.00423	0.13113
Transfer to Sheraz SHAFIQ	38	0.00423	0.16074
Transfer to David SHAW	234	0.00423	0.98982
Transfer to Alyson SIMMONS	0	0.00000	0.00000
Value of non-transferable ballot papers			1.77925
	Total		4.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Sheraz SHAFIQ

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Claire LEITCH	0	0.00000	0.00000
Transfer to Neil MCGHEE	4	0.00423	0.01692
Transfer to Neil MCGHEE	5	1.00000	5.00000
Transfer to Neil MURRAY	9	0.00423	0.03807
Transfer to Neil MURRAY	1	1.00000	1.00000
Transfer to Jim ROBERTS	1	0.00423	0.00423
Transfer to Jim ROBERTS	3	0.03192	0.09576
Transfer to Jim ROBERTS	3	1.00000	3.00000
Transfer to David SHAW	13	0.00423	0.05499
Transfer to David SHAW	5	1.00000	5.00000
Transfer to Alyson SIMMONS	0	0.00000	0.00000
Value of non-transferable ballot papers			1.07845

Total

15.28842

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Neil MURRAY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Claire LEITCH	0	0.00000	0.00000
Transfer to Neil MCGHEE	73	0.00423	0.30879
Transfer to Neil MCGHEE	7	0.03192	0.22344
Transfer to Neil MCGHEE	353	1.00000	353.00000
Transfer to Jim ROBERTS	3	0.00423	0.01269
Transfer to Jim ROBERTS	9	0.03192	0.28728
Transfer to Jim ROBERTS	38	1.00000	38.00000
Transfer to Sheraz SHAFIQ	0	0.00000	0.00000
Transfer to David SHAW	9	0.00423	0.03807
Transfer to David SHAW	1	0.03192	0.03192
Transfer to David SHAW	43	1.00000	43.00000
Transfer to Alyson SIMMONS	0	0.00000	0.00000
Value of non-transferable ballot papers			50.40302

N.B. The figures may not add due to rounding.

Total

485.30521

Transfers Report

This report contains the transfers results.

Stage 6 - Surplus of Neil MCGHEE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Claire LEITCH	0	0.00000	0.00000
Transfer to Neil MCGHEE	0	0.00000	0.00000
Transfer to Neil MURRAY	0	0.00000	0.00000
Transfer to Jim ROBERTS	9	0.00100	0.00900
Transfer to Jim ROBERTS	32	0.00760	0.24320
Transfer to Jim ROBERTS	171	0.23822	40.73562
Transfer to Sheraz SHAFIQ	0	0.00000	0.00000
Transfer to David SHAW	41	0.00100	0.04100
Transfer to David SHAW	4	0.00760	0.03040
Transfer to David SHAW	267	0.23822	63.60474
Transfer to Alyson SIMMONS	0	0.00000	0.00000
Value of non-transferable ballot papers			189.30223

Total

293.96619

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of David SHAW

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Claire LEITCH	0	0.00000	0.00000
Transfer to Neil MCGHEE	0	0.00000	0.00000
Transfer to Neil MURRAY	0	0.00000	0.00000
Transfer to Jim ROBERTS	8	0.00100	0.00800
Transfer to Jim ROBERTS	31	0.00423	0.13113
Transfer to Jim ROBERTS	1	0.00760	0.00760
Transfer to Jim ROBERTS	21	0.03192	0.67032
Transfer to Jim ROBERTS	62	0.23822	14.76964
Transfer to Jim ROBERTS	196	1.00000	196.00000
Transfer to Sheraz SHAFIQ	0	0.00000	0.00000
Transfer to Alyson SIMMONS	0	0.00000	0.00000
Value of non-transferable ballot papers			523.09801
	Total		734.68470